
Fig. 16Fig. 16

CAUTION

CAUTION

CAUTION

CAUTION

Parts Diagram

3.  Contents:

1.  Product Information :

Z900RS/Z900RS CAFE STREET SPORTS / FULL SYSTEM BST-V

2.  Applicable Model :

Z900RS / CAFE SS FULL BST-V-2 1/6 Z900RS / CAFE SS FULL BST-V-2 2/6 Z900RS / CAFE SS FULL BST-V-2 3/6 Z900RS / CAFE SS FULL BST-V-2 4/6 Z900RS / CAFE SS FULL BST-V-2 5/6200901

K269HFST11

180-269-6660

Description

Cyclone Type 

Part Number

Kawasaki Z900RS / Z900RS CAFE STREET SPORTS / FULL SYSTEM BST-V

Main Material

Weight [STD : 12.0kg]

Stainless steel 

 6.4kg

Model Kawasaki Z900RS(18-22/23)/Z900RS CAFE(18-22/23)

No.                         Descriptions                                    Part No.         Q'ty   No.                Descriptions                          Part No.         Q'ty 

1

2 

3 

4 

5 

6

7

8 

9 

10 

*

187-269-6660 

136-269-2D90

117-045-0250

117-045-3200

161-269-0300

800-206-4020

812-206-1310 

823-006-1000 

862-118-1500 

812-318-0000 

831-002-0100

Muffler Assy 

Connector#139

Cast Flange

Cast Flange#3

Silencer Blacekt  

Cap Bolt M6x20    

Washer M6x13

Flange Nut M6

Plug

Washer

Tie wrap  L100

1

8 

3

1 

1 

2

2 

2 

1 

1 

1

Before beginning installation, let motorcycle cool down.

This product is coated with heat-resistant paint. Handle with care not to be hit or scratched by 

surroundings as the coating may come off. Use soft cloth with dish soap but do not use high-pressure 

washer when cleaning the exhaust system. Do not use metal polish, parts cleaner or similar chemicals 

either, and be cautious that some detergent may damage the paint. Note that paint peeling problem is 

not under warranty.

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install 

Yoshimura product.

Product information

YOSHIMURA JAPAN CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

Sight from front side

Cast Flange

Cast Flange#3

Cylinder #4 Cylinder #3 Cylinder #2 Cylinder #1

Cast Flange / Cast Flange#3

Connector#139

Hold Connecter #139 with tape.

Stock nut

Muffler Assy

Muffler Assy

Silencer Bracket  

See Fig.10 for installation.

Sight from back 

Stock bolt

Stock washerStock nut

Stock silencer bracket

Silencer Bracket

OutsideInside

15) Warm-up engine, and inspect the exhaust leaking. 

Tighten all bolts further after engine is cooled down.

CAUTION Avoid long warm-up operation. If neglected, it may cause damage on paintings. 

CAUTION This product is coated with heat-resistant paint. Handle with care not to be hit or scratched by 

surroundings as the coating may come off. Use soft cloth with dish soap but do not use high-

pressure washer when cleaning the exhaust system. Do not use metal polish, parts cleaner or 

similar chemicals either, and be cautious that some detergent may damage the paint. Note that 

paint peeling problem is not under warranty.

CAUTION Check exhaust gas and confirm Air by Fuel ratio is within safe area after mounting the full system. 

Adjust the FI mapping if it is necessary.

This full system is possible to remove a baffle (STR21 Inner Assy). It is highly recommended to 

adjust FI mapping when running without STR21 Inner Assy.

When replacing oil filter, use oil filter 

wrench like the sample shown on Fig. 

16.

REFERENCE

4.  Installation steps:

Fig. 1 Fig. 1 

Fig. 2Fig. 2

Remove grommet rubber.

Muffler Assy 

Cap Bolt M6x20

Flange Nut M6

Washer M6x13

Silencer Blacekt

Fig. 3 Fig. 3 

Cast Flange/Cast Flange#3

Face Yoshimura logo upward.

Rear

(Engine side)

Front

Fig. 5Fig. 5

Fig. 7Fig. 7Fig. 6Fig. 6

Fig. 9Fig. 9Fig. 8Fig. 8

Fig. 4 Fig. 4

Z900RS / CAFE SS FULL BST-V-2 6/6

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Japan 

through the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Japan Co., Ltd.

        Yoshimura Japan Co., Ltd. 

        6748 Nakatsu, Aikawa, Aiko, Kanagawa 243-0303 Japan

        Web site: http://www.yoshimura-jp.com   E-Mail: yj-world@yoshimura-jp.com

2)

8) Mount Muffler Assy on exhaust ports and fix Cast Flange and Cast Flange#3 with stock nuts. (See Fig. 8 & Fig. 9)

9) Mount Silencer Bracket on stock silencer bracket with stock bolt, stock washer and stock nut. Tighten bolt by hand 

only at this stage. (See Fig. 10 & Fig. 11 on next page)

10) Remove protective tape applied on exhaust pipes and Connector#139 at Step 7) carefully.

According to Kawasaki service manual, remove O2 

sensor from stock exhaust system and remove stock 

exhaust system from vehicle. (See Fig. 1)

CAUTION Handle O2 sensor with care not to be 

hit. If neglected, it may cause serious 

damage. It is recommended to cover 

with soft cloth until remounted.

CAUTION  Be careful not to damage engine, radiator or Muffler Assy when mounting.

3) Remove grommet rubber from stock chamber bracket. 

(See Fig. 2)

Procedure for YM 2023 and later or the vehicle with 

bracket. (See. Fig. 3)

Remove bracket which is fixing O2 sensor cable before 

installing the Yoshimura full system.

CAUTION

CAUTION

It may fall off from chamber bracket 

while running if it is not removed in 

advance.

The bracket will hit Muffler Assy and it 

will cause of damage.

4)

7) Apply protective tape to protect exhaust pipe painting and 

put 3 of Cast Flange and Cast Flange#3 on each exhaust 

pipe. Then mount 2 of each Connector#139 on the tip of 

each exhaust pipe, and hold them with tape. 

(See Fig. 5,  Fig. 6 & Fig. 7 on next page)

CAUTION Cast Flange#3 must be put on the #3 

exhaust pipe.

CAUTION  Mount Cast Flange and Connector 

#139 in the right direction. Cast Flange 

must be mounted as shown on Fig. 4. 

And, the side with collar of Connector 

#139 must be located on Cast Flange 

side.

CAUTION Use weakly adhesive tape. If neglected, 

it may cause trouble when removing 

tapes.

5) Remove exhaust gaskets out of each exhaust port from 

#1 to #4 and replace them with new ones.

Use new Kawasaki genuine exhaust 

gaskets.
REFERENCE

6) Mount Silencer Bracket on Muffler Assy with 2 of each 

Cap Bolt M6x20, Washer M6x13 and Flange Nut M6. 

Tighten bolts by hand only at this stage. (See Fig. 4)

1) Check that all the component parts are in hand.

14) It is recommended that whole Yoshimura exhaust system is wiped down with dish soap to remove oil and 

fingerprints. This will prevent tarnishing of finish after the exhaust system is heated up.

CAUTION When cleaning silencer, use soft cloth with dish soap. Do not use metal polish or parts cleaner. 

11) Adjust clearance between Yoshimura exhaust system and 

vehicle, and set the position. Tighten and torque each 

stock nut on all 4 Cast Flanges little by little to equalize 

pressure. Then tighten and torque bolts at Silencer 

Bracket. (See Fig. 12)

Tightening Torque

CAUTION Torque specification must be followed.

CAUTION Tighten each stock nut evenly to 

equalize pressure on Cast Flange.

Stock nut

Cap Bolt M6x20

Stock bolt

: 15Nm

: 10Nm

: 23Nm

12) Mount stock O2 sensor which was removed at Step 2) at 

front side of sensor boss on Muffler Assy. Then mount 

after-market O2 sensor at rear side. Or mount Plug and 

Washer if after-market O2 sensor is not used. Tighten O2 

sensor and/or Plug. Procedure for YM 2023 and later or 

the vehicle with bracket. (Refer Step 4)) Mount O2 sensor 

cable to other wire with zip tie while keep the cable away 

from Muffler Assy.

CAUTION  Handle O2 sensor with care not to be 

hit. If neglected, it may cause serious 

damage.

CAUTION Keep away O2 sensor wiring from 

Muffler Assy.

Tightening Torque

O2 sensor / After-market O2 sensor / Plug : 45Nm

13) Make sure there are proper clearances between Yoshimura exhaust system and other components. In case there is 

not enough clearance, loosen bolts and readjust the position of Yoshimura exhaust system.

Adjust the wiring position 

with clip and make it not to 

be wound.

Connector
Cast Flange

FrontRear

(Engine side)

Make sure collar of Connector#139 is settled into recess 

on Cast Flange when fixing them with stock nuts.

STR21 Inner Assy (Pre-installed)

Parts No. : 139-000-B012

Lot Number /

Serial Number

2

3 4 3 3

Cylinder #4 Cylinder #3 Cylinder #2 Cylinder #1

5
8

9

10

6 7

1

！

Check exhaust gas and confirm Air by Fuel ratio is within safe area after 

mounting the full system. Adjust the FI mapping if it is necessary.

This full system is possible to remove a baffle (STR21 Inner Assy). It is highly 

recommended to adjust FI mapping when running without STR21 Inner Assy.

2 2 2

After Installation

Bracket

Muffler Assy

Bracket hits Muffler Assy 

if it is not removed.

Fig. 13Fig. 13

Fig. 11Fig. 11Fig. 10Fig. 10 Fig. 15Fig. 15Fig. 14 Fig. 14 

O2 sensor

After-market O2 sensor

Washer

Plug

Sight from left of motorcycle

Muffler Assy

Fig. 12Fig. 12

Fix O2 sensor cable to other 

wire with zip tie.

O2 sensor cable


